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A
>> type skewnmean 44— BOOT&MA\»S A , we ELT (e 0*7\/&H(7\)
—_ Do Comopra (TRoobmoe LG gLt X
function [bsstderr,p,lhats]=skewnmean (x,n)
lhats=[];p=0;
for i=1:n
bssampl=stovelstropp (x); &— (SScT>TbrL 66X X%

arm=mean (bssampl) ;

if 1arm\<: sqgrt(2/pi), lh§t= sgrt((arm™(2))/((2/pi) - arm™(2)));

lhats=[1lhats lhat] ; .

else p=p+l; &;

end éxl (?/}\L/lex_ :)

end ,—//
ST DD & nn

bsstderr= std(lhats); h

>> type skewnest

ECT (E 63 N (S Sn)

function [lhat, def] =skewnest (x)

def=0; e——

if mean(x) <= sqrt(2/pi), lhat= sqgrt((mean(x)”~(2))/((2/pi) - mean(x)"(2)));
else def=def+1;

end

>> type skewnormal

function z=skewnormal (la,n)
z=[1;
x=randn(n,1,1);y=randn(n,1,1); g (MU L AT g H(?\)
for i=1:n
if la*y(i)>=x(i);
u=y (i) ;
else
u=-y(1i);
end,

z=[z u ];
end
>> z=skewnormal (0.6,100); ’>\: 0.C ) 16o  (AMPLE
>> [bsstderr,p,lhats]= skewnmean(z,1000); B eoTsTixe

>> bsstderr

bsstderr =

~N
LTS ben D Ewnon (A

- — FURCTIOD
MOTL AR, TV CTeH i

0.1601 S YA @ TeY
N— wWoKDLE TAWE e . a
W,
>> boot=bootstrp (1000, 'skewnest’,z) ; §5™ T
>> std(boot)
J

A
CT pobevn eneor (N )
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>> hist (boot,100)
>> hist(lhats, 100)
>> std(z)
ans =
0.9309 \
>> mean(z)
ans =
0.3278
>> gprim=(1/2*pi)/( (2/pi) - mean(z)"(2))"(3/2)
gprim =
4.0807
>> gprim*std(z)/sqrt(100)
ans =

C\OOQ LT pReporabasy 0%

>> lhat=skewnest(z)

lhat =

>>—parbootest=skewnest{parbeot)s

>> sS4 ootest)

ST (;\\)
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>> parbootest

parbootest = AN
0.4956

>> lhat

lhat = G)QRD MX’W(, BosTLTR M
0.4506 | |

>> pboots=parbootskn(lhat,100,1000) ;

>> hist (pboots,100)
>> std(pboots)

ans = CTOuUbpe  yteten )

0.1730
>> type parbootskn 6‘/3 ey 560 ‘CjTQ-W

A L

function pboots=parbootskn(la,m,n) ok D, g\*((ﬂ’\)/ bWt TH
pboots=[1]; [
for i=1:n Q - /,%
z=skewnormal (la,m) ; . A -

pboot=skewnest (z) ;
pboots=[pboots pboot];
end

>>
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